Figure S7

2] L
c

l2z00=d

2— - e - 2 - gniq £qo 1qod 18w IS
mTﬁ 2] !

£700°0=d - 2 - 8900°0=d [ - gniq gjew IS
—o - 2500°0=d | - m —o - Hiow Fjeul S
H

- /qOd FW IS

,_Dli_l

- /q02 [qO0 F1BW IS

-

0.0236

- FPW S

p
==
)

p
[ ]

) ) ) !

a0} N ~— <

» © [3p] ~ AN (o] © ™
-—

124

(W) un|98)dYH-EHD-G (W) [-eHO # Wl uniDaldvH-Y (INu) eyeloy ejor

0.000001
0.0000001

wup090q

0.000001
:10.0000001

1900 F8W IS

gmq qod |qod FpewW IS
rqoo [q0d F38W IS
gmq 31euw 3s

Hiew F38W IS

HW IS

FW IS

wnunwiydA -s



